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THE SIMPLE PAST TENSE
¢ \We use the past simple for finished situations or

SORULAR

actions.
e Common time expressions are yesterday, two years
ago, last Monday.

1) Diyalogu tamamlayan en
uygun ifadeyi bulunuz.

Toby: Have you heard
about the tsunami in Japan?

AFFIRMATIVE Lilly: Yes, .......

D S

I/He/She/lt/You/We/They worked last week.
left

A) most people died under
a mass of snow

NEGATIVE

Subject did not Verb
(didn"t)

didn’t work last week.

leave

I/He/She/lt/You/We/They

INTERROGATIVE

| Did [ Subject ________Jveb |
Did

I/ he/she/it/you/we/they work last

leave week?

PAST SIMPLE REGULAR / IRREGULAR VERBS
* Regular verbs end in —ed in positive sentences.
e.g., visited, worked, decided

e Use the irregular past form of the verbs only
in positive sentences.

e.g., | went to Beijing four years ago.
¢ Use the base form of the verbs after did/didn’t.

e.g., Did he climb the mountain? / We didn’t
speak to the guide.

¢ Past of can = could

e.g., We could see the lighthouse from the
window.

| couldn’t call you yesterday.

B) a lot of people died after
an eruption and explosion

Q) several people lost their
lives in big waves

D) many people died after a
sudden fall of rocks down the
hill

E) it pulled a lot of
buildings down and destroyed
the underground
Cevap: C

2) Sorudaki bosluga
gelebilecek en uygun secenegi
bulunuz.

Seven wonders of the
ancient world existed a long
time .......

A) now B) after
C) then D) last
E) ago Cevap: E

3) Soruyu paragrafa gore
cevaplayiniz.

The Egyptian Pharaoh
Khufu built the Great Pyramid

\ of Giza as his tomb.
4

Thousands of workers
worked to build it. They
used five million stone blocks.
It was 146 meters high. But
the strong winds damaged it.
Now it is about 139 meters
high. It still survives.

According to the
paragraph, .......

A) the tomb is as
strong as it was the
first day.

B) the tomb lost almost its
7-meter height because of the
wind.

C) they used various
materials to build it.

D) they needed fewer than
a thousand workers to build
it.

E) it is impossible to see the
tomb today.
Cevap: B



